

<b>BID2019-48 PREVENTATIVE AND INSPECTIONS FOR THE RDP TEKKEM LIME SLAKING SYSTEMS AT TRENTON WATER FILTRATION PLANT FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER</b>	
<b>NUMBER OF RESPONDENTS:</b>	1
<b>NAME OF BIDDER</b>	<b>MUNICIPAL MAINTENANCE COMPANY</b>
<b>ADDRESS</b>	1352 TAYLORS LANE
<b>CITY, STATE, ZIP</b>	CINNAMINSON, NJ 08077
<b>CONTACT NAME</b>	<b>DAVID GUERTLER, VICE PRESIDENT</b>
<b>TELEPHONE</b>	856-786-9434
<b>FAX</b>	856-786-0642
<b>E-MAIL</b>	<a href="mailto:DGUERTLER@MMC-NJ.COM">DGUERTLER@MMC-NJ.COM</a>
<b>STATEMENT OF OWNERSHIP DISCLOSURE</b>	INCLUDED
<b>MANDATORY EQUAL EMPLOYMENT OPPORTUNITY</b>	INCLUDED
<b>REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONAIRE</b>	INCLUDED
<b>ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA</b>	N/A
<b>PREVAILING WAGE STATEMENT</b>	INCLUDED
<b>NJ BUSINESS REGISTRATION CERTIFICATE</b>	INCLUDED
<b>NON-COLLUSION AFFIDAVIT</b>	INCLUDED
<b>NJ PUBLIC WORKERS CONTRACT CERTIFICATE</b>	CERT.#51984 EXP. 05/02/2020
<b>NOTICE OF INTENT TO SUBCONTRACT FORM</b>	NO
<b>NON-COLLUSION AFFIDAVIT</b>	INCLUDED
<b>AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE</b>	INCLUDED
<b>DEBARMENT NOTICE (REQUIRED)</b>	INCLUDED
<b>EQUIPMENT CERTIFICATION</b>	INCLUDED
<b>DISCLOSURE OF INVESTED ACTIVITIES IN IRAN</b>	INCLUDED
<b>ETHICS COMPLAINT DISCLOSURE</b>	INCLUDED
<b>CITY OF TRENTON RESIDENT EMPLOYMENT POLICY</b>	INCLUDED
<b>EIC</b>	CERT.#6803 EXP. 02/15/2020
<b>CERTIFICATE OF INSURANCE</b>	<b>REQUIRED FROM AWARDED VENDOR PRIOR TO AWARD</b>
<b>60-DAY EXTENSION COMPLIANCE</b>	YES
<b>COMPLIANCE WITH EMERGENCY SERVICES</b>	YES
<b>THREE (3) REFERENCES</b>	INCLUDED
<b>GRAND TOTAL FOR YEAR (1) ONE FROM TIME OF AWARD TO JUNE 30, 2020</b>	<b>\$237,806.00</b>
<b>OPTION TO EXTEND</b>	
<b>GRAND TOTAL FOR OPTION TO EXTEND ONE (1) YEAR FROM JULY 1, 2020 TO JUNE 30, 2021</b>	<b>\$242,119.00</b>
<b>EXCEPTIONS (IF ANY)</b>	NONE
<b>FATAL FLAW</b>	NONE

**MAINTENANCE CONTRACT  
TEKKEM LIME SLAKING SYSTEMS  
PROPOSAL**

**FOR A PERIOD OF ONE (1) YEAR FROM DATE OF AWARD TO JUNE 30, 2020**

I (we) hereby certify that I (we) have read the contract together with the specifications attached hereto, and have also examined the site(s) of the work, and fully understand the meaning of them, and if awarded the contract hereby agree that I (we) shall comply with all of the terms, covenants, and agreements set forth herein.

I (we), agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail, and in full accordance with the specifications which are hereby made part and parcel of the proposal the following sums:

<b>SERVICE ITEM</b>	<b>HOURLY/UNIT COST</b>	<b>NUMBER OF HOURS/(other)</b>	<b>TOTAL PRICE</b>
Monthly Service Items	\$1,450.00	12	\$17,400.00
Quarterly Service Items	\$50.00	4	\$200.00
Semi-Annual Service Items	\$1,176.00	2	\$2,352.00
Annual Service Items	\$1,900.00	1	\$1,900.00
Partial disassembly of lines from the Silo to the day tanks, cleaning lines, vactroring, disposal, and reassembly	\$6,500.00	Allowance for 2 X's per contract as needed	\$13,000.00
Emergency Service (Work Day)	\$116.00	360 hours	\$41,760.00
Emergency Service (After Hours)	\$162.00	720 hours	\$116,400.00
Parts & Materials (fixed)			\$15,000.00
Ultra-Web Filter Cartridges For Tbv-2 Dust Collector	\$575.00	4	\$2,300.00
Roto-Bindicator Level Probe, 120V	\$1,287.00	2	\$2,574.00
Adjustable Speed Responsive Switch for Rotary Airlock Feeders	\$1,947.00	1	\$1,947.00
Type K Thermocouple	\$195.00	1	\$195.00

Kistler-Morse Load Disc 3	\$2,500.00	1	\$2,500.00
Bray 3" Resilient Seated Butterfly Valve With Double Acting Pneumatic Actuator	\$1,533.00	1	\$1,533.00
Bray 8" Resilient Seated Butterfly Valve With Double Acting Pneumatic Actuator	\$2,700.00	1	\$2,700.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 1/2"NPT	\$250.00	1	\$250.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 1"NPT	\$430.00	1	\$430.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 3/8"NPT	\$265.00	1	\$265.00
Siemens Sitrans, Two-wire Level Sensor, 4-20mA Output, 24BDC	\$2,900.00	1	\$2,900.00
Weir Pump Suction Side Liner, D1.5VRA102	\$1,300.00	1	\$1,300.00
Weir Pump Impeller, D1.5VRKC1003	\$1,500.00	1	\$1,500.00
Weir Pump Drive Side Liner, D1.5VRB104	\$1,200.00	1	\$1,200.00
PLC Input Module, 16P, 120V, Series C	\$900.00	1	\$900.00
PLC Output Module, 16P, 120/240V	\$2,490.00	1	\$2,490.00
Fuse, 10A, Fast-Acting 1/4"x1 1/4", Glass	\$1.00	5	\$5.00
Fuse, 3A, Fast-Acting, 1/4"x1 1/4", Glass	\$12.00	5	\$60.00
Fuse, 1A, Fast-Acting 1/4"x1 1/4", Glass	\$12.00	5	\$60.00
Time Delay "Slo-Blow" Fuse, MDL Style, 10A	\$75.00	5	\$375.00
Fuse, 5A, Fast-Acting, 1/4"x1 1/4", Glass	\$12.00	5	\$60.00
Relay, 11 Pin, Manual Operator and Pilot Light, 120V Coil	\$270.00	3	\$810.00
<b>Grand Total:</b>			<b>\$23,780.00</b>

**Maintenance Contract  
Tekkem Lime Slaking Systems  
Proposal FY 2020**

**FOR A PERIOD OF ONE (1) YEAR FROM DATE OF AWARD TO JUNE 30, 2020**

**Grand Total from previous page: \$ 237,806.00**

(Signature)

Respectfully Submitted:

Municipal Mfg. Services Co.  
(Company)



**David Guertler  
Vice President**

(Print Name Above)

(856) 786-9434

(Phone Number)

Include the following:

- Documentation for experience and references
- Documentation of qualifications
- Copy of Business Registration Certificate issued by the New Jersey Department of the Treasury, Division of Revenue

**Maintenance Contract  
Tekkem Lime Slaking Systems  
Proposal**

**OPTION TO EXTEND ONE (1) YEAR – FROM JULY 1, 2010 TO JUNE 30, 2021**

I (we) hereby certify that I (we) have read the contract together with the specifications attached hereto, and have also examined the site(s) of the work, and fully understand the meaning of them, and if awarded the contract hereby agree that I (we) shall comply with all of the terms, covenants, and agreements set forth herein.

I (we), agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail, and in full accordance with the specifications which are hereby made part and parcel of the proposal the following sums:

<b>SERVICE ITEM</b>	<b>HOURLY/UNIT COST</b>	<b>NUMBER OF HOURS/(other)</b>	<b>TOTAL PRICE</b>
Monthly Service Items	\$1,525.00	12	\$18,300.00
Quarterly Service Items	\$875.00	4	\$3500.00
Semi-Annual Service Items	\$1,100.00	2	\$2200.00
Annual Service Items	\$1,900.00	1	\$1900.00
Partial disassembly of lines from the Silo to the day tanks, cleaning lines, vactroring, disposal, and reassembly	\$6,750.00	Allowance for 2 X's per contract as needed	\$13500.00
Emergency Service (Work Day)	\$118.00	360 hours	\$42,480.00
Emergency Service (After Hours)	\$165.00	720 hours	\$118,800.00
Parts & Materials (fixed)			\$15,000.00
Ultra-Web Filter Cartridges For Tbv-2 Dust Collector	\$575.00	4	\$2300.00
Roto-Bindicator Level Probe, 120V	\$1,287.00	2	\$2574.00
Adjustable Speed Responsive Switch for Rotary Airlock Feeders	\$1,947.00	1	\$1,947.00
Type K Thermocouple	\$195.00	1	\$195.00

Kistler-Morse Load Disc 3	\$ 2,500.00	1	\$ 2,500.00
Bray 3" Resilient Seated Butterfly Valve With Double Acting Pneumatic Actuator	\$ 1,533.00	1	\$ 1,533.00
Bray 8" Resilient Seated Butterfly Valve With Double Acting Pneumatic Actuator	\$ 2,700.00	1	\$ 2,700.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 1/2"NPT	\$ 250.00	1	\$ 250.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 1" NPT	\$ 430.00	1	\$ 430.00
ASCO 2 Way General Service Solenoid Valve, Brass Body, 3/8" NPT	\$ 265.00	1	\$ 265.00
Siemens Sitrans, Two-wire Level Sensor, 4-20mA Output, 24BDC	\$ 2,900.00	1	\$ 2,900.00
Weir Pump Suction Side Liner, D1.5VRA102	\$ 1,300.00	1	\$ 1,300.00
Weir Pump Impeller, D1.5VRKC1003	\$ 1,500.00	1	\$ 1,500.00
Weir Pump Drive Side Liner, D1.5VRB104	\$ 1,200.00	1	\$ 1,200.00
PLC Input Module, 16P, 120V, Series C	\$ 900.00	1	\$ 900.00
PLC Output Module, 16P, 120/240V	\$ 2,490.00	1	\$ 2,490.00
Fuse, 10A, Fast-Acting 1/4"x1 1/4", Glass	\$ 18.00	5	\$ 90.00
Fuse, 3A, Fast-Acting, 1/4"x1 1/4", Glass	\$ 12.00	5	\$ 60.00
Fuse, 1A, Fast-Acting 1/4"x1 1/4", Glass	\$ 12.00	5	\$ 60.00
Time Delay "Slo-Blow" Fuse, MDL Style, 10A	\$ 75.00	5	\$ 375.00
Fuse, 5A, Fast-Acting, 1/4"x1 1/4", Glass	\$ 12.00	5	\$ 60.00
Relay, 11 Pin, Manual Operator and Pilot Light, 120V Coil	\$ 270.00	3	\$ 810.00
<b>Grand Total:</b>			\$ 242,119.00

**Maintenance Contract  
Tekkem Lime Slaking Systems  
Proposal FY2021**

**OPTION TO EXTEND ONE (1) YEAR – FROM JULY 1, 2010 TO JUNE 30, 2021**

**Grand Total from previous page: \$ \$242,119.00**

Respectfully Submitted:

Municipal Contracts Co.  
(Company)

(Signature)

David Guertler  
Vice President  
(856) 786-9434

(Phone Number)

Include the following:

- Documentation for experience and references
- Documentation of qualifications
- Copy of Business Registration Certificate issued by the New Jersey Department of the Treasury, Division of Revenue